| N of simulated tracks vs transverse vert position

0.9

| N of associated tracks (simToReco) vs transverse vert position

10°

10*

10°

10?

10

| N of simulated tracks vs z vert position

FIT

!
f

10°

10*

MS

5 1 1
5

1072 107 1 10 10?

| N of associated tracks (simToReco) vs z vert position |

10?

10

A
T I
r g : P
= ﬁﬁ """"""" S o
L Y

0.95

(]

1072

N of simulated tracks vs.simPVz |

10°
10*

10°

9 =15 =10 -5 0

0.95

[T
ey

%30 -20 -10 0 10 20 30

| N of associated tracks (simToReco) vs. sim PV z |

10*

10°

0.95

iy
TTT T

0 =15 10 5 0 5 10 15 20



	Contents
	Page 1


